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PART - A

1. Krishna walks 4 km to the East turng
left walks 4 km and turns left and
walks 4 km. Which direction is Krishng
facing ?

(1) South
(2) East

(rS'T West

(4) North

[ 87

. Deepika travels 8 km from East to West
and turns right to travel 2 km. Now she
turns right and travels 5 km. In which
direction is she now positioned with
reference to the starting point ?

(1) South-East
) North-West
(3) West
(4) North

3. In a certain code, OVER is written as
‘8974’ and PRIORITY 1is written as
‘14384352’. How is REPORT written
in that code ?

(1) 471945
) 471845
(3) 472845
(4) 491845

@ 442 x 1026 x 4025 = 425 x 584 = 1()°
(1) 12

42710
(3) 135

}e,xL( 2
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(1) &8gs0

(2) &8y

3) JFy00

(4) &850

2. 8% B8y $00d 3380 8 8.20. (HaXreiod,
A SBA 2 8.20. (HAredoDod. So0er G
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(1) S§ero-88y
(2) &85-38
(3) 3y

(4) &850

3. 2¥§& 758" ‘OVER’ 55 ‘8974’ v o808
‘PRIORITY’ 55 ‘14384352 v @0, B
3§96 REPORT 9 dgore oo ?

(1) 471945
(2) 471845
(3) 472845
(4) 491845

4. 44.2 X 1026 % 4025 « 425 x 584 = 10°
@) 12
() 10
@) 135
() 16.5
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5. Find the next number in the fol
number series.
16, 24, 60, 210, 945, ___
@) 5197.5
(2) 4625.26
(3) 5635.5

(4) 5255

lowing

. There are 60 students in a class. The
number of girls are twice the number
of boys. A boy named Rahul is ranked
seventeenth from the top. If there are
9 girls ahead of Rahul, how many boys
are after him in rank ?

3

@) 7

4

=2}

Lo

9 =~
(¥%)

7. The radius of a circle is 2 cm less than
half the side of a square whose area 1s
1024 em>. What is the circumference of
the circle ?

(1) 132 cm
(2y 88 cm
(3) 96 cm
(4) 154 cm

8. The ratio between the present ages of
Rajesh and his wife 1s 5 : 4 respectively.
The difference between them 1s 7 years.
What is the age of their son after 3
years, if the son’s present age is one-
seventh the present age of his father ?

(1) 6 year

(2) 3 year

(3) 12 year

A8 year

5.

6.

-
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16, 24, 60, 210, 945, ___ HEom00 SODS

0% ?
(1) 5197.5
(2) 4625.25

(4) 5255
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(1) 3

(2)
(3)
(4)
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(1) 132 RNe.a

(2) 88 2o.b.

(3) 96 o..

(4) 154 Ro..
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(1) 6 o

(2) 3 Sdou

(3) 12 o

(4) 8 o
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9. A family has a man, hix wife, their
four sons and their wivea, The family
of every son also has 3 sons and one
daughter. How many male members
are there in the family ?

(1) 4
(2) 8
(3) 12
(@17

Directions for question number 10 to 12 ;

Each question gives a sentence with a part
of the sentence underlined. Four alternatives
for the underlined part are given. One of
them is correct. Identify the correct one and
mark its number as the answer.

10. Coming from an under privileged
family I always have had a soft spot

for the poor and the needy.
(1) has always have had
(2) always had had
(3) always had
(47 have always had

11. Vittal is the most meticulous man that
I meet.
(1) that I met
(2) that I had meet
#) that I had ever met
(4) that I have met ever

12. He looked as though he hadn’t had a
decent meal for a week.

(1) hadn’t had
(¢Z) didn’t have
(3) wouldn’t have
(4) shouldn’t have

WSPRS
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(1) 4

2 8

(3) 12

(4) 17
Directions for question number 10 to 12
Each question gives a sentence with a part
of the sentence underlined. Four alternatives

for the underlined part are given. One of
them is correct. Identify the correct one and

mark its number as the answer.

10. Coming from an under privileged
family I always have had a soft spot
for the poor and the needy.

(1) has always have had
(2) always had had

(3) always had

(4) have always had

11. Vittal is the most meticulous man that
I meet.

(1) that I met

(2) that I had meet

(3) that I had ever met
(4) that I have met ever

12. He looked as though he hadn’t had a
decent meal for a week
(1) hadn’t had
(2) didn’t have
(3) wouldn’t have

(4) shouldn’t have
(C)
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The objective of the program Po

Pilusthondi’ is to d

(1) Develop mechanisms to track an
monitor crop growth across various
locations

(2) To encourage social entrepreneurs
to adopt a village

(3) To give interest free farm lo
farmers

4y To strengthen the extension reach
to farmers so as to increase the
productivity in agriculture and
allied sectors

ans to

14. The Government of Andhra Pradesh is
focussing on Zero Waste in agriculture
and allied activities. Under this mission,
Bio Compost Digester Units have been
installed in the rythu bazars in which
of the following districts as a pilot
project in 2019-2020.

A. Tirupati
B. Nellore
C. Krishna
D. Guntur
(1) Aand B
(2) Cand D
(3) Band C
(4) Band D

15. Chennai—Bangalore Industrial Corridor
is one of the mega infrastructure projects
of the Government of India which passes
through the State of Andhra Pradesh.
Under this project three nodes have
been identified in Andhra Pradesh
Tamil Nadu and Karnataka. In Andhra
Pradesh, which of the following nodeg
have been selected for development j
phase-I in 2019 ? !

(1) Venkatagiri Kota
(2) Palamaner
(3) Krishnapatnam

(4) Hindupur
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(1) A 500050 B
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(4) B %00c%0 D

15. D-BoKrd 3odQAdS 5050 e
BoiEs Be0SB50 DI de edTHs el
30 SOGERE oG FB0od. B3 2§ 3ol
eS0(SDE, BT, ST Tglos” Borrd
Srozred O08 @romeor H9owd. 2019 &
55 - I @08 o RAFS® Kododads
@rodo.
(1) Doseond §'e
(2) BB
(3) &yR0en0
(4) ros>r0

(C)



ho¥ ’

@ The following are the commitments of

Andhra Pradesh Government under
Navaratnalu Schemes.,

[dentify the correct statements,

A. To provide crop lonans free of interest
where government will pay the
interest to the banks.,

B. Government to pay the premium for
the crop insurance.

Al

', Land owning farmers to be given
T 12,500 as incentive and tenant
farmers T 8,000 as incentive before
the sowing season.

D. Ifafarmer dies accidentally or commits

the farmer's family will be
given an insurance of T 7 lakh.

(1) Aand B

(2) A, Band C
(3)/:\. Band D
(1) A, B,Cand D

suicide,

@ The Government of Andhra Pradesh
has entered into an agreement
with a voluntary organization for
strengthening of backyard poultry and
nutritional security to tribal areas in
five tribal districts. The voluntary
organization 1s

(1) India Youth For Society
(2) Naandi Foundation

(3) Watershed Support Services and
Activities Network

Dr. B. V. Rao Institute of Poultry
¢ Management and Technology
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19.

20 Re

Consider the following ptatements

A. The same person can be ypp‘;in'/td nH
Governor for two or more Stutas,
In normal circumstances, when
a Governor discharges the
responsibilities of more than oné
State, he/she acts on the advice
of the Council of Ministers of the
respective States,

Of the above, the correct statements
are

(1) A only

(2) B only

(2 Aand B

(4) Neither A nor B

B.

The Chairman of the first Backward
Classes Commission was

(})/B, P. Mandsl

(2) Kakasaheb Kalelkar
3) S. H. Ramdhan

(4) H. Hanumanthappa

servations in Tamil Nadu for
Scheduled Castes and Scheduled
Tribes and other Backward Clagzes
amount to 69%. In which year wag

the Constitution amended to include

the resolution of the Tamil Nady

Government in the X Schedule of the

Constitution ?

(1) 1956

(2) 1994

71976

(4) 197%
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53 1

@ Which of the following are considered to
be the essential elements of any/every
religious system ?

A. A belief in the existence of a super
human world

B. Humans relationship to it

C. Practice of ritual as an instrument
(1) Aonly

(XA and C
(3) A,Band C
(4) Band C

@ On the basis of their economy, the
Tribes of India can be classified into

A. Food gatherers and hunters

B. Artisans

C. Shifting cultivators

D. Folk Artists

E. The Dravidian Linguistic Group
(1) Aand B
@A B, CandD
(3) B,C,Dand E
(49 A,B,C,Dand E

23. By which Act, East India Company’s
monopoly over trade with India ended ?

(1) Charter Act of 1813

(29/ Charter Act of 1833
(3) Charter Act of 1853

(4) Charter Act of 1873
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28. Which of the following do not have
‘Coral Reefs' ?
(1) Andaman and Nicobar Islands
(2) Gulf of Kachchh
(3) Gulf of Mannar

(" Sunderbans

29. Which of the following statements is

correct ?

(1) Nathu La Pass is in Himachal
Pradesh

(2) Dhaola Dhar Range is in Arunachal
Pradesh

(3y Nanda Devi Peak is in Sikkim

(4) Pir Panjal Range is in Kashmir

30. The first Bio-Reserve in the State of
Andhra Pradesh is
(1) Koringa wild animal sanctuary

(2) Kolleru wild animal sanctuary
(3) Pulicot wild animal sanctuary
(4r'Sri Venkateswara wild animal

sanctuary

31. In which among the following Islands
of India is an active volcano found ?

(1) Car Nicobar Island
(2) Nancowry Island
(3) Barren Island

WSPRS
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@ Given below are the agro-climutlc

zones in the State of Andhra Pradesh
along with the districts. Which of the
following is wrongly matched ?

(1) North Coastal Zone — Srikakulam,
Vizianagaram, Visakhapatnam

(2) Godavari Zone — East Godavari and
West Godavari

'c&){cvarce Rainfall Zone — Chittoor,
Nellore

(4) Southern Zone — YSR Kadapa,
Nellore

33. The first Supreme Court Judge to be
nominated to the Rajya Sabha soon
after retirement was

(1) Justice Hidayatullah

ﬂ)/ Justice Ranjan Gogoi

(3) Justice Baharul Islam

(4) Justice M. N. Venkatachaliah

34. The Pravasi Bharatiya Diwas is
celebrated on 9% January every year.
9tt January has been chosen as it

coincides with
(1) The passing of the Citizenship Act
in the Constituent Assembly
(2) The birthday of Sunderlal Bahuguna
he arrival of Mahatma Gandhi
from South Africa

(4) It marked the end of the Cold Way
between the United States anq
various countries in Asia, Eurgpe

and elsewhere
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35, Conwider the following Wltementy -

A. Though (he Indinn Constitution jg
fedorn) nnd enviknges dus) polity
(Center nnd Stutes) it provides for
only a wingle citizenship,

B Federg] States like USA and
Switzerland have adopted the
Kystem of dual citizenship,

Of the above, the correct statements
are

(1) A only
(2) Bonly

L9A and B
(4) Neither A nor B

36. Consider the following statements -

A. The Constitution does not mention
a Confidence motion but mentions
a No-Confidence motion.

B. A No-Confidence motion to be

successful, has to be passed by
both the Rajya Sabha and the Lok
Sabha.

Of the above, the correct statements
are

(1) Aonly

(2) Bonly

(3 A and B

(4) Neither A nor B

A\

The concept of Public Interest Litigation
(PIL) emerged for the first time in India
in which of the following cases ?

(1) Unnikrishnan Case (1993

(2) Sarala Mudgal Case (1995)

(3) Chandra Kumar Case (1997)

(47 Mumbai Kamgar Sabha Case (1976)
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plasty money applios 10
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i)l Bank drafle saaypesd

bank
(2 . toe integrated with a
i asl vad
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Which of the following statements i/
are correct ?

A. Nuclear medicine utilizes radintion
emitted by radioisotopes to treat a
disease,

sy . .

B. Radiopharmaceuticals utilize radio

waves to treat a disease.

(1) Aonly

(2) Bonly

(3y Both A and B
(4) Neither A nor B

48. Which qf the following does not display
the continuity of Indus Valley Culture ?

(1) Cultivation of wheat and cotton
(2¥ The script

(3) Use of punch marked coins

(4) Worship of Pasupati Siva

Consider the following statements :
A. Ibn Batutah was the author of
Kitab-al-Hind.
B. Amir Kusrau was the author of
Tughlaq Namabh.
Which of the above statements are
correct ?
(1) A only
(2) B)only
Both A and B
(4) Neither A nor B

(49

50. Vimana style is the distinguishing
feature of

1) Dravidian temple
(2) Solankl style

(3) Gupta temples
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PART -B
51. In disaster management, mitigation | 55. Which is the biggest port in the country ?
measures involve .
4G . (¥ Mumbai
Y Governmental action and
administration (2) Tuticorin
(2) Community action and (3) Kochi
administratio
n (4) Kandla

(3) Military action and administration
(4) None of the above

52. The “3-Es” of traffic engineering stand

for
(1) Enforcement, Empowerment and
Eradication .

(2) Engineering, Education and
Expulsion )
/48)/Engineering, Education and

Enforcement
(4) Engineering, Education and
Enthusiasm

53. Which of the following practice applied
in sustainable planning ?

(1), Energy audits

(2) Site appraisals

437 Waste management plan
(4) None of the above

54. The annual flood peaks in India are
recorded in months of

(1) June, July

(2) July, August

(33 July, September
(4) August, September

@ How many methods of rainwater
harvesting are there ?

(1) One
(2) Two
(3) Three

(Af)/ Four
67

refers the refurbishing or
replacement of old buildings and new
use of previously developed land in
urban areas.

¢0) Urban planning
(2) Urban recycling
(8) Urbanism

(4) None of these

58. The work of showing how the ancient
cities were planned is done by

(1) Physiologist

(2) Psychologist

, ,Qa’)/Archaeologist
(4) All of the above

©)
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59. During the period of April 2000 — June
2017. which of the following sector
attracted the most FDI in India ?

(1) Services Sector

) Telecommunications
(37 Computer Software and Hardware
(4) Drugs and Pharmaceuticals

60. Who is responsible for the construction
and maintenance of the National

Highways ?

(1) State Government
£2) Central Government
(3) Federal Government
(4) National Government

61. The first stagein the function of traffic
engineering department 1s

(1) Planning and design
(2 Collection of data
3) Investigations

(4) Finance

ventilation requires less energy,
capital and maintenance costs and
contributes less GHG emissions.
(1) Mechanical
(2f Natural
(3) Automatic
(4) None of these

62.

63. Floods can be prevented by
(,1’)/ Afforestation
(2) Cutting the forest
(3) Tilling the land

WSPRg

. . of the following is the
64. Which 0n¢ of . ‘:) 8 the benegy
of ra'mwater harvesting ?

Q,{F lood M

) provide &

6) Create good
(4) Decrease the ground water level

lot of water to play

aesthetic view

65. The objectives of town planning are
i (1) To promote the healthy surroundings
@) To make correct use of land
@) To avoid m
zoning

- (A?/ All of the above

utual conflicts by proper

66. The Finger Plan’ was adopted for the

extension of the city of
1) Copenhagen

(2) Chennai

(3) Brasiha

(4) New Delhi

67. The placing of various rooms or units

of a structure in proper correlation of

their functions and in due proximity
with each other is known as

(1) Aspect

(2) Prospect

(3) Circulation ,\

(4) Removing the top soil

@ Grouping

Gre
for<

1)
@)
3)

69.

70.

. |



Growing forest where there was no

@ forest before is known as

(1) Replantation

(2) Afforestation

(3) Desertification
(# None of the above

69. What are the key ingredients for a
self-sustaining virtuous cycle ?
(1) Presenting data as a public good
(2) Ensuring policy consistency

(3) Emphasizing legal reforms
/(ATAH the above

70. Urban forestry is

(1) It is specialized branch of forestry
that has as its objective the
cultivation and management of
trees on public and privately owned
lands in and around urban centres

(2) Contributes to the physiological,
socio-logical and economic well-
being of urban society

(3)/Both (1) and (2)

(4) None of these

71. Management of Urban Forest is
concerned with management needs of
forests in urban areas and
(1) Whatever is done for the forest to

maintain the health and vigour

(% Whatever is done to the forest to
prevent undue interference with the
society

(3) Both (1) and (2)
(4) None of these

WSPRS

72. The world's first 100% solar powel'ed
mrport located at

(1) Cochin, Kerala
(2) Bengaluru, Karnataka
(3) Chennai, Tamil Nadu

(4) Mumbai, Maharashtra

73. The fundamental factor in the selection
of pavement type is

(1) elimatic condition
(2 type and intensity of traffic

(3) subgrade soil and drainage
conditions

(4) availability of funds for the
construction project

74. Urbanization usually results in an
increase in flood frequency because

(1) less water 1s able to runoff in
streams

/02,/1&.3 water is able to infiltrate into
the ground, so instead is discharged
rapidly into streams

(3) more water is used by humans and
then discharged to streams

(4) rainfall is greater in urban areas
than in rural areas

75. Which type of roofs are most popular
in the coastal south India ?

(1 Handmade tiles roof
(2) Mud-timber flat roof
(3) Coconut leaves roof

(4) Brick and Lime roof

(™



76. Benefits of Urban Forests are
(1) Climate amelioration

5 i : :
(2) Environmental engineering and
Architectural uses

(3) Aesthetic uses

()" All of the above

77. Which among the following have a large
amount of installed grid interactive
renewable power capacity in India ?

j,l/)/ Wind power
(2) Solar power

(37\Biomass power
(4) Small Hydro power

78. The provision of traffic signals at
intersections

@'{ reduces right angled and rear end
collisions :

(2) increases right angled and rear end
collisions

(3) reduces right angled collisions but
may increase rear end collisions

(4) reduces rear end collisions but may
increase right angled collisions

79. The angle of the thatched roof slope
should

41) Less than 30 degrees
(2) Greater than 30 degrees
(3) Right angle

(4) Parallel to floor

WSPRS

80 Optimization of urban mobility can be
. intervened at the infrastructure leve)

by use of

1) SUV lanes

(2) HOV lanes

3) Toll free lanes
(4) Slow lanes

Which of the following is not a flood
proofing measures for houses ?

(1) Elevation

ﬂﬁ‘loodwalls

(%%(Dry flood proofing
%Detention basin

82. The mud flooring is

(1) Environment friendly and cool in
summer

(2) Cool in winter
3 Not very durable
(4) None of the above

83. Local attraction in compass surveying
may exist due to

(1) incorrect levelling of the magnetic
needle

(2) loss of magnetism of the needle
(3) friction of the needle at the pivot

M presence of magnetic substances
near the instrument
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Which one of the following generally

23

WhiCh is the railway station ab the
" highest altitude in India as of 2014 7

(1) Ghum
(2) Ooty
(3) Shimla
(4) Ahju

Select the correct statement.

n e

(f Traffic volume should always be
more than traffic capacity
2 & v .

(2) Traffic capacity should always be
more than traffic volume

(3) Spot speed is the average speed of a
vehicle at a specified section

(4) 85" percentile speed is more than
98" percentile speed

86. Which of the following can reduce the
risk of flooding ”
(1) Zonings and building regulations for
new developments

(2) Dams, detent ion basins and levees

(3) Flood awareness and education

programs

W All of the above

accounts for the major ust of household

water ”

(1) Landscaping

M Shower

(3) Washing Machine

WSPRS

88. How many numbers of source types of
noise are there 7

(1) 4

2y 5

(3) 2

(4) 1

d elevations

89. The plan of the buildings an .
notice

and sections accompanying the

shall be drawn to a scale
(1) 1:310

(2) 1: 00

(3) 1:100

(4) 1: 500

90. Which Indian State has the longest

coasthne 7
{ Ly Gujarat
(2) Maharashtra
(3) Tamil Nadu

(4) Andhra Pradesh

(f)h Which of the following methods of plane
table surveying is used to locate the

position of an inaccessible point ?
(1) radiation

(2) intersection

(3) traversing

(4) resection

(4) Dishwasher

(C)
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92. The shoulder provided along the road
edge should be

(B rougher than the traffic lanes

(2) smoother than the traffic lanes

(3) of same colour as that of the pavement
(4) of very low load bearing capacity

93. Which of the following is used as fue]
for transportation ?

) Ethanol

(2) Aldehyde

(3) Ketone

(4) All of the above

94. The first step in preparedness
planning is

(1) Analysis of data collected
(X Determination of objectives

(3) Pevelopment of implementing device
Determination of strategy

95. How much of the water on earth is
available for people’s everyday use ?

(1) 10%

(2) More than 25%
¢3) Less than 1%
(4) 25%

96. The branch that deals with iImprovement
of traffic performance, traffic studies
and traffic network is called

(1) Highway engineering
(2) Railway engineering
«8) Traffic engineering
(4) Traffic management

24

WSPRS

Which of the following country generat,

97. 211 their electricity using renewah),

energy ?
Q,)/Iceland
@) England
(3) USA

(4) China

98. Whether we obtain tap water or water
from well, it originally comes from

(1) Sea
(2) Ocean
(3’))(River
(# Rain

99. The movement of people from central
cities to smaller communities in the
surrounding area is known as

(1) Reverse migration
(2) Under urbanization

(37§ Sub-urbanization

(4) Over urbanization

100. An example of a perfect industrial
zone is

(1) City of Delhi

§2Y City of Chandigarh
(3) City of Chennai

(4) All of these

©)
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101- fI‘O measure flood variability, ___——
is used widely,

(1) FFMI
(2) FI
(3) FMI
(4) FFI

102. A scientific distinction between rural
and urban community can be made on
the basis of

(1) Density of population

(2) Area covered

3y Occupation followed by people
(4) None of the above

103. Landscape architecture comes under
which principle of planning ?

(1) Function
(2) Form

(3y Aesthetic
(4) Elegance

104. As per the national ambient air control

| monitoring all cities should have

1/1’)/ 6 to 22 vehicles per 100 population

(2) 10 to 20 vehicles per 100 population

(3) 20 to 40 vehicles Per 100 population

able

WSPRS

106. The cross hairs in the gurveying

telescope are placed
T midway between eyepiece

objective lens

(2) much closer to the eyepiece than to
the objective lens

(3) much closer to the objective lens
than to the eyepiece

(4) anywhere between eyepiec
objective lens

and

- 4 '*'L&"::’-Q,

e and

106. The term is used to mean the
external views as seen from certain

rooms of the building.
(1) Aspect
(2) Prospect

Q3)/ Elegance

(4) Roominess

107) The process of determining the locations
of the instrument station by drawing
re-sectors from the locations of the
known stations is called

(1) Radiation
(2) Intersection

(37 Resection

(4) Traversing

Vulnerability analysis comes in which
part of the Disaster Management

Cycle ?
,ﬂ’f Mitigation
(2) Preparedness
(3) Response

(4) Recovery

(4) Parameter not applic

(©)
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109. What is the
of traffic engineering ?

Most important objective

(1) To consider pedestrians as obstruction
(2) To reduce the accidents

(3) To increase the traffic

(4) Toprovide a high-speed road without
any other priority

110. Sustainable building design does not
include

(X{ Energy conservation
(2) Indoor air quality
(3) Town planning
(A’)S(None of these

111. A can be used to span over
a canyon or depression or even over a
freeway or roadway.

(—lf)/culvert
(2) tunnels
(3) drainage
(4) bridges

112. What are the two main types of drip
irrigation ?

Q?/Surface and Sub-surface drip
irrigation

(2) Under and Sub-surface drip
irrigation

(3) Top and Surface drip irrigation

(4) Top and Under drip irrigation

WSPRy

(]
@ Conurbation means
(

1) Cluster of cities and towy,
(@) Cities of cities
(3) Group of slums
(4) None of these

114. Green belts are provided for the gpeei,)

purpose of
(1) limiting the land pollution

(2) limiting the water pollution
(3) limiting the population
@ limiting the growth of a town

115. Which of the following is not a featur.
of Indian planning ?

(1) Physical planning

(2) Indicative economic planning
(3) Decentralized planning

(4) None of the above

116. Where is the largest Wind Farm located
in India ?

(1) Jaisalmer Wind Park, Rajasthan

(2) Muppandal Wind Farm, Tamil
Nadu

(3) Vaspet Wind Farm, Maharashtra
(4) Chakala Wind Farm, Maharashtra

117. A flagh flood is a flood that

(1) is caused by heavy rain rather than
from the flooding of a river

(2) occurs in urban areas

(3 occurs suddenly and unexpectedly
and for a short duration

(4) is caused by the blocking of drains
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Pirect Solar energy is used for

(1) Water heating

(2) Distillation

(8‘)/ Drying

(4) All of the above

135. Which of the following statement is
Frue about ‘Off side model’ for the
improvement of slums ?

(1) Land 1s easily available

(2) Always requires temporary
accommodation during transition

(8) Livelihood is not at all effected

(4) Itincreases the distance from earlier
work site

136. How many inches of fast-moving flood
water can knock you off your feet ?

(1) 6 inches

(»'Zf 8 inches
(3) 10 inches
(4) 12 inches

d, which of the

137. In the average househol
t water ?

following wastes the mos

(1) Running water while washing

dishes

(2) Running water
teeth

(3] Leaky toilet

while brushing

WSPRS

138. A non-structural measure in flood

control management is
(1) Canalisation
,(23601ders and dikes

(3) Flood proofing construction

(4) Retention ponds

139. Unnecessary concentration of public
buildings at certain spots of town

result in

(1) Parking problems
2) Traffic jams

(37 Both (1) and (2)
(4) None of the above

140. The efficiency of any town 18

measured by

(1) the layout of its building
(2) the layout of its roads
(3) population

(4 all of the above

141. What is the base year to calculate the

National Income in India ?
(1) 2004-05
(2Y2010-11

(3) 2014-15

(4) Taking a long shower

(4) 2011-12
(o
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Urbanization and occupation of river
banks and flood plains lead to

(1) Periodic exposure to inundation
(2) Greater flow velocity

(3) High run off

(4) Increased soil erosion

143. Where there is no water logging the
trees can be planted in pits placed at
a distance of
(1) 6 X6 m
2) T%7Tm
(3Y3x%x3m

(4) 10 X 10 m

@ The instrument used for accurate
centering in plane table survey is

(1) spirit level
Wélidade

(3) plumbing fork
,(Af)\/ﬁrough compass

145. Town planning concept was given
importance during Indus Valley

Civilization by focusing on

(1) Water supply management
(2) Grid iron streets system
(?f)/Sanitation system
(4) All of the above

146. Which of the following item is the main
cause of higher inflation (WPI in India) ?
(1) Primary Articles
(2 Fuel and Power
(3) Manufactured Products

o jeast 0ff1c

148, Which

WHI’KT‘Z %
o of purveyIiny, which requis,
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(@) tacho™® |
etrical leveling

(2) {rigonom
(3) plan® able

s Theodolite $UTVeYINE

g the longest National Highway

guUrveying

in India ?
(1) NH-5
(2) NH-6
(3 NH-7
(4) N H-15

149. In India for design of roads pedestrian

is considered as

(1 Element of traffic

(2) Intruder in traffic

(3) Essential part of traffic

(4) Controller of traffic

150, When does Sustainable Planning take
place ?

(W During the design phasc of the
building’s development

(2) During the construction phase of the

building’s development

(3) After construction of the building

(4) None of the above

(4) All of the above
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- Woroeguired oy pmliminar.\'
.tlldu‘s off various aupects of a wm‘k or
project.

(1) Supplementary Batimato
(2) Plinth Arvea Katimato
(3) Revised Estimatoe

‘ @ Abstract Kstimate

‘ o - 5 .
The aggregate area of doors and

windows shall not be less than

of the floor area of room,
(1) 1/10

2 1/9

8 1/7

W 1/6

120. In cross-ventilation windows are

provided

(@ On the opposite wall of the door
(2) On the adjacent wall of the door
(3) On the ceiling of the roof

(4) In line with the door

121 Mohenjodaro represents
(1) Tiger Valley C ivilization
2y Indus Valley Civilization
(3) Nile Valley Civilization
(4) Yellow River Valley Civilization

WSPRS

QJ&) The ratio of the totnl flooy nren inclusive

of nll the floors to the area of the plot
on which building stands is known as

(1) Giroundnge
(2) Plot nron

(1) Floor nren
(4 Built-up nren

Factors to be conpidered in town

planning are

123,

(1) Topography

(2) Governing body and cultural
heritage

(3) Society needs

(A) All the above

124. The length of a chain is measgured from

(1) centre of one handle to centre of
other handle

4/(2/) outside of one handle to outside of

other handle /

(3) outside of one handle to inside of
other handle

(4) ingide of one handle to inside of
other handle

125. The cycle of disaster consists of the
following components

(1) Mitigation, Preparedness, Response,
Recovery

(2) Preparedness, vulnerability
aggessment, risk assessment,
recovery

(3) Mitigation, Risk assessment,
Response and Recovery

(4) None of the above

(©)
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126. A __ line usually parallel to the
plot boundaries and laid down in each
case by the Authority, beyond which

nothing can be constructed towards the
site boundaries.

(1) Building

_(2rControl

(3) Property
(4) Plot

28

127. For accurate work, the steel band
should always be used in preference to
chain because the steel band

(1) is lighter than chain
(2) is easier to handle

(8) is practically inextensible and is not
liable to kinks when in use

(4) can be easily repaired in the field

Which State has the highest density of
roads in India ?

(1) Kerala
(2) Tripura
(3) West Bengal
(Waharashtra

129. Which of the following is a disadvantage
of renewable energy ?

(1) High pollution
%vailable only in few places
(3) High running cost

(4) Unreliable supply

-".
WSPRS %
30 The nl()Ht efficient traffic Sign‘dl 13
b gystem 8
1) gimultancous system
2 alternate system
Qy)/ flexible progressive system
4) simple progressive gystem
1

he length of a chain is found to be

CIft
15 be adjusted by

short on testing, it can
(1/)/ straightening the links

(2) removing one or more small circular
rings

(3) closing the joints of the rings if
opened out

(4) all of the above

132. Which was the first superfast train in
India ?

(1) Rajdhani Express
(2) Shatabdi Express
(3) Duronto Express
(4) Sampark Kranti Express

133. Scientific planning of transportation
system and mass transit facilities in
cities should be based on

(1) spot speed data

(2) origin and destination data
(3 traffic volume data

(4) accident data

(€)



